Gallup Omnibus Data 1960, omnibus nr. 03

DDA-444

Indholdsfortegnelse

Variabelliste

V1 6003 DDA STUDY NUMBER
V2 YEAR

V3 6003 BUS NUMBER

V4 6003 DOCUMENT NUMBER
V5 6003 SEQUENCE NUMBER
V6 6003 RESPONDENT ID

V7 6003 WEIGHT VARIABLE

V8 6003 WEEK NUMBER

V9 6003 SEX

Vi AGE

V11 6003 MARITAL STATUS
V12 6003 OCCUPATION

V13 6003 WIFES OCCUPATION
V14 6003 SUPPORTERS INCOME
V15 6003 SOCIAL GROUP

V16 6003 URBANIZATION

V17 6003 POLITICAL POSITION
Vi FAM. COMPOSITION 1
V19 6003 FAM. COMPOSITION 2
V20 6003 FAM. COMPOSITION 3
V21 6003 FAM. COMPOSITION 4
V22 6003 FAM. COMPOSITION 5
V23 6003 FAM. COMPOSITION 6
V24 6003 SIZE OF HOUSEHOLD
V2 AR

V26 6003 PRINCESS MARRIAGE
V27 6003 THRONE AMENDMENT
V28 6003 THRONE AMENDMENT 2
V29 6003 PRINCE NATIONALITY
V30 6003 CIGS - LUNG CANCER
V31 6003 SMOKING RISK

V32 6003 SMOKING RISK 2

V33 6003 SMOKING RISK 3
V34 6003 CUT OF TREES

V35 6003 TREES ACCIDENTS
V36 6003 SPENT ON CHRISTMAS

Variabler

e V1 6003 DDA STUDY NUMBER

= Double (0 decimaler)
n

Gyldige 323
Manglende 0
Minimum 444

Revision: 395



Maximum 444
Gennemsnit 444
Median 444
Standardafvigelse 0
e V2 6003 YEAR

» Double (0 decimaler)

| ]
Gyldige 323
Manglende 0
Minimum 1960
Maximum 1960
Gennemsnit 1960
Median 1960

Standardafvigelse 0

¢ V3 6003 BUS NUMBER

o Bus number.

% MD% Antal Kode Kategori

100 100 323 3 omnibus
no. 03

100

Svarprocent: 100

e V4 6003 DOCUMENT NUMBER
The variable has the value 01 in every case. 00001520

o Document number.

= Double (0 decimaler)
n

Gyldige 323
Manglende 0
Minimum 1
Maximum 1
Gennemsnit 1
Median 1
Standardafvigelse 0

e V5 6003 SEQUENCE NUMBER

The variable consists of the serial numbers of the respond00001550 ents, within the individual omnibuses, in
the original data 00001560 file. 00001570

o Sequence number.

= Double (0 decimaler)
n

Gyldige 323
Manglende 0
Minimum 1
Maximum 397
Gennemsnit 201
Median 201

Standardafvigelse 113

e V6 6003 RESPONDENT ID



The identification number was constructed in the DDA 00001600 due to a missing identification of the
respondents. 00001610

o Respondent identification number.

= Double (0 decimaler)
n

Gyldige 323
Manglende 0
Minimum 1
Maximum 323
Gennemsnit 162
Median 162

Standardafvigelse 93

e V7 6003 WEIGHT VARIABLE
This variable was generated by the DDA. Its value indicates 00001640 the number of times a given case
occurred in the original 00001650 card weighted data file. The duplicate cases have been removed00001660
on the basis of a comparison of V6. 00001670

o Weight variable

% MD% Antal Kode Kategori

77 77 248 1 the case
occurred
once

23 23 75 2 the case
occurred
2 times

100 100 323
Svarprocent: 100

¢ V8 6003 WEEK NUMBER
This number is the same as the one used to identify the 00001750 omnibus. It is described here as a week
number because the 00001760 Danish Gallup Institute at this time normally identified 00001770 their
omnibuses by the number of the week in which they were 00001780 collected. 00001790

o Gallup Variables.
o 2: Week number.

m Double (0 decimaler)
| ]

Gyldige 323
Manglende 0
Minimum 3
Maximum 3
Gennemsnit 3
Median 3
Standardafvigelse 0

e V9 6003 SEX
o Gallup Variables.

o 18: Sex.
% MD% Antal Kode Kategori
45 45 144 1 man

55 55 179 2 woman
100 100 323

Svarprocent: 100



e V10 6003 AGE
o Gallup Variables.

o 19A: Age.

% MD% Antal Kode Kategori
4 4 13 115-17

years

10 10 33 218 -24
years

16 16 52 325-30
years

22 22 70 431 -40
years

19 19 60 541 -50
years

12 12 40 6 51 - 60
years

17 17 55 7 61 years
or more

100 100 323
Svarprocent: 100

e V11 6003 MARITAL STATUS
o Gallup Variables.

o 19B: Marital status.

% MD% Antal Kode Kategori

17 17 55 1 single

70 70 225 2 married

13 13 43 3 separated,
divorced
or
widowed

100 100 323

Svarprocent: 100

e V12 6003 OCCUPATION
o Gallup Variables.

o 20A: Supporters occupation.

% MD% Antal Kode Kategori
24 24 79 1 worker,
unskilled
20 20 64 2 worker,
skilled
6 6 20 3 salaried
employees,
lower grade
12 12 40 4 other
salaried
persons
3 3 9 5 farmer,
independent
16 16 52 6 other
independent
0 0 0 7 married
woman, not
self-
supporting
14 14 46 8 old age
pensioner,
disabled



100

Svarprocent: 100

4 13

100 323

pensioner
9 other
person
without
occupation

e V13 6003 WIFES OCCUPATION
o Gallup Variables.

o 20B: Housewifes occupation.

% MD% Antal Kode Kategori

8

24

68

0
100

Svarprocent: 100

8 26
24 76
68 220

1
100 323

1no
housewife

2 self-
supporting

3 not self-
supporting

9 Uoplyst

e V14 6003 SUPPORTERS INCOME
o Gallup Variables.

o 21: Supporters income.

% MD% Antal Kode Kategori

51

28

10

100

Svarprocent: 100

51 165
28 90
10 33
5 17

6 18
100 323

1 less than
12.000
kroner

212.000 -

17.999
kroner

3 18.000 -
25.999
kroner

4 26.000
kroner or
more

5 don't
know,
will not
answer

e V15 6003 SOCIAL GROUP
o Gallup Variables.

o 22: Social group.

% MD% Antal Kode Kategori

76

21

76 246
21 67
3 10

1 grouplI
(lower
class)

2 group II
(middle
class)

3 group III

(upper
class)



100 100 323
Svarprocent: 100

e V16 6003 URBANIZATION
o Gallup Variables.

o 23: Urbanization.
% MD% Antal Kode Kategori

27 27 86 1 capital

31 31 100 2 provincial
towns

42 42 137 4 rural
districts

100 100 323
Svarprocent: 100

e V17 6003 POLITICAL POSITION
The question was not included in this omnibus. 00002960

o Gallup Variables.
o 14: Political position.

= Double (0 decimaler)

Uoplyst/irrelevant/deltager ikke - er 99.

e V18 6003 FAM. COMPOSITION 1
The question was not included in this omnibus. 00003020

o Gallup Variables.
o 10: Composition of family. Husband.

= Double (0 decimaler)

Uoplyst/irrelevant/deltager ikke - er 9.

¢ V19 6003 FAM. COMPOSITION 2
The question was not included in this omnibus. 00003080

o Gallup Variables.

o 10: Composition of family. Housewife.
m Double (0 decimaler)

Uoplyst/irrelevant/deltager ikke - er 9.

¢ V20 6003 FAM. COMPOSITION 3
The question was not included in this omnibus. 00003140

o Gallup Variables.

o 10: Composition of family. Children between 0 - 7 years.
= Double (0 decimaler)

Uoplyst/irrelevant/deltager ikke - er 9.

e V21 6003 FAM. COMPOSITION 4
The question was not included in this omnibus. 00003200

o Gallup Variables.
o 10: Composition of family. Children between 8 - 14 years

= Double (0 decimaler)

Uoplyst/irrelevant/deltager ikke - er 9.



e V22 6003 FAM. COMPOSITION 5
The question was not included in this omnibus. 00003260

o Gallup Variables.
o 10: Composition of family. Adults between 15 - 17 years.

m Double (0 decimaler)

Uoplyst/irrelevant/deltager ikke - er 9.

e V23 6003 FAM. COMPOSITION 6
The question was not included in this omnibus. 00003320

o Gallup Variables.
o 10: Composition of family. Other adults.

= Double (0 decimaler)

Uoplyst/irrelevant/deltager ikke - er 9.

e V24 6003 SIZE OF HOUSEHOLD
The question was not included in this omnibus. 00003370

o Gallup Variables.
o 10: Size of household.

= Double (0 decimaler)

Uoplyst/irrelevant/deltager ikke - er 9, 8.

e V25 6003 CAR
o Gallup Variables.

o 16: Car.

% MD% Antal Kode Kategori

9 9 28 1 have a
car

91 91 295 2 have not
a car

100 100 323

Svarprocent: 100

e V26 6003 PRINCESS MARRIAGE
If 'no’', go to question 6 (V28) 00003570

o Special guestions, Omnibus no. 03.

o 4: Sometime ago, it was suggested that our heir to the throne, Princess Margrete, would probably not be
married to a Dane. As parliaments approval is neccessary, and such an approval would hardly be given to a
marriage with a Dane. Do you think our heir to the throne should be allowed to make this decision
independently of others than herself?

% MD% Antal Kode Kategori
74 74 239 1 yes
7 7 23 2 no

19 19 61 3 don't
know

100 100 323

Svarprocent: 100

e V27 6003 THRONE AMENDMENT
) cial tion mni no.

o 5: (If yes) To give the heir to the throne this authority an amendment to the constitution is neccessary. Do you
think such an amendment should be made?



% MD% Antal Kode Kategori
56 76 182 1 yes
2 3 8 2 no
15 20 48 3 don't
know
26 85 9 Uoplyst
100 100 323

Svarprocent: 74

e V28 6003 THRONE AMENDMENT 2
o Special guestions, Omnibus no. 03.

o 6: (If no in question 4) Why not?

% MD% Antal Kode Kategori

2 33 5 1 because
she is heir
to the
throne

0 0 0 2 succession

0 0 0 3 so that no
foreign
power
should
gain too
much
influence

1 13 2 4 it must
not be a
commoner

0 7 1 5 it may be
a
commoner

0 0 0 6 King and
Queen
must be
include to
make
decision

2 47 7 7 others
95 308 9 Uoplyst
100 100 323

Svarprocent: 5

e V29 6003 PRINCE NATIONALITY
o Special guestions, Omnibus no. 03.

o 7: Should our heir to the throne marry a foreign prince, of which nationality would you prefer this prince?

% MD% Antal Kode Kategori

3 3 10 1 Norwegian

4 2 Swedish
27 3 Scandinavian
17 4 English

2 5 Belgian

= O~ U1 00
= O = Ul O =

0 6 Italian
2 7 anything but
German
0 0 0 8 French
0 0 9 European
0 0 1 10 German
3 3

10 11 other



75 77 241 12 don't know
3 9 88
100 100 323
Svarprocent: 97

e V30 6003 CIGS - LUNG CANCER
o Special guestions, Omnibus no. 03.

o 8: Periodically, doctors are drawing attention to inve stigations, which are showing connection between heavy
cigarette smoking and lung cancer. Do you believe in such a connection?

% MD% Antal Kode Kategori
53 53 170 1 yes
15 15 50 2 no
32 32 103 3 don't
know
100 100 323

Svarprocent: 100

e V31 6003 SMOKING RISK
o Special questions, Omnibus no. 03.

o 9: (If yes) How many cigarettes do you think one should smoke daily in order to run a serious risk in getting
lung cancer?

% MD% Antal Kode Kategori

1 3 3 11-5
cigarettes
daily

3 8 9 2 6-10
cigarettes
daily

3 9 10 311-15
cigarettes
daily

10 28 32 4 16-20
cigarettes
daily

6 17 20 521-25
cigarettes
daily

13 36 41 6 26
cigarettes
or more

0 0 0 7 don't
know

64 208 9 Uoplyst
100 100 323

Svarprocent: 36

e V32 6003 SMOKING RISK 2
o Special questions, Omnibus no. 03.

o 10: (If any certain number in question 5) How long time smoking of this daily number of cigarettes do you think
it takes before the disease occurs?

% MD% Antal Kode Kategori

0 1 1 1 less than
one year

2 2 2 1-2 years

3 4 3 3-5 years

2 2 4 5-10
years



2 6 7 510 years

2 6 7 6 10-15
years

3 3 7 15 years

3 3 8 15-20
years

4 5 9 20 years
1 3 3 10 20-25

years
3 8 9 11 25 years
or more
21 60 69 12 don't
know
64 208 99 Uoplyst

100 100 323
Svarprocent: 36

e V33 6003 SMOKING RISK 3
o Special guestions, Omnibus no. 03.

o 11: (If any definite time in question 11) How great do you think the risk is for getting lung cancer after smoked
this number of cigarettes for this number of years? Do you think the risk is greater that 50% or do you think
that it is smaller than 50% ?

% MD% Antal Kode Kategori

5 33 16 1 more
than
50%

9 60 29 2 less than
50%

2 1 3 fifty-fifty
1 4 2 4 don't
know

85 275 9 Uoplyst
100 100 323

Svarprocent: 15

e V34 6003 CUT OF TREES
o Special guestions, Omnibus no. 03.

o 14: The discussion for and against road trees is actual again. What is your opinion: Should the road trees be cut
down where trafficsafety makes it necessary, or should one consider the beauty of the landscape and leave
them?

% MD% Antal Kode Kategori

47 47 151 1 road
trees
ought to
be cut
down

31 31 101 2 road
trees
ought to
be left

22 22 71 3 don't
know

100 100 323
Svarprocent: 100

e V35 6003 TREES ACCIDENTS
) cial tion mni no.

o 15: (If left standing) It can be predicted with some assurance that very serious accidents due to the road trees
will continue to happen. What would you suggest could be done to reduce the number of these accidents?



% MD% Antal Kode Kategori
1 3 3 1 nothing
4 13 12 2 continued
propaganda
19 67 62 3 speed limit
3 12 11 4 other
5 5 5 don't know
1 4 8
70 226 9 Uoplyst
100 100 323

Svarprocent: 29

e V36 6003 SPENT ON CHRISTMAS
o Special guestions, Omnibus no. 03.

o 17: In regard to the past Christmas, I would like to ask you: Approximately how much did you spend this year
on Christmas gifts?

% MD% Antal Kode Kategori
2 2 8 1 nothing
14 14 46 2 less than

50 kroner
15 15 47 3 50-100
kroner
12 12 38 4 101-150
kroner
13 13 42 5151-200
kroner
8 8 25 6 201-250
kroner
5 5 15 7 251-300
kroner
4 4 12 8 301-350
kroner
2 2 8 9 351-400
kroner
4 4 13 10 400
kroner or
more
21 21 69 11 don't
remember

100 100 323
Svarprocent: 100

Instrumentering

Hovedsekvens

Main Sequence

V3: Bus number.

V4: Document number.

Sequence number.
Respondent identification number.
Weight variable

2: Week number.

18: Sex.

1 19A: Age.

: 19B: Marital status.

: 20A: Supporters occupation.
: 20B: Housewifes occupation.
1 21: Supporters income.
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22: Social group.

23: Urbanization.

14: Political position.

10: Composition of family. Husband.

10: Composition of family. Housewife.

10: Composition of family. Children between 0 - 7 years.

10: Composition of family. Children between 8 - 14 years

10: Composition of family. Adults between 15 - 17 years.

10: Composition of family. Other adults.

24: 10: Size of household.

25: 16: Car.

26: 4: Sometime ago, it was suggested that our heir to the throne, Princess Margrete, would probably not be
married to a Dane. As parliaments approval is neccessary, and such an approval would hardly be given to a
marriage with a Dane. Do you think our heir to the throne should be allowed to make this decision
independently of others than herself?
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o V27: 5: (If yes) To give the heir to the throne this authority an amendment to the constitution is neccessary.

Do you think such an amendment should be made?

o V28: 6: (If no in question 4) Why not?
o V29: 7: Should our heir to the throne marry a foreign prince, of which nationality would you prefer this prince?
o V30: 8: Periodically, doctors are drawing attention to inve stigations, which are showing connection between

heavy cigarette smoking and lung cancer. Do you believe in such a connection?

o V31:9: (If yes) How many cigarettes do you think one should smoke daily in order to run a serious risk in

getting lung cancer?

o V32: 10: (If any certain number in question 5) How long time smoking of this daily number of cigarettes do you

think it takes before the disease occurs?

V33: 11: (If any definite time in question 11) How great do you think the risk is for getting lung cancer after
smoked this number of cigarettes for this number of years? Do you think the risk is greater that 50% or do you
think that it is smaller than 50% ?

V34: 14: The discussion for and against road trees is actual again. What is your opinion: Should the road trees
be cut down where trafficsafety makes it necessary, or should one consider the beauty of the landscape and
leave them?

V35: 15: (If left standing) It can be predicted with some assurance that very serious accidents due to the road
trees will continue to happen. What would you suggest could be done to reduce the number of these accidents?
V36: 17: In regard to the past Christmas, I would like to ask you: Approximately how much did you spend this
year on Christmas gifts?

Undersekvenser

Universer

Univers

Aldersgraenser

Personer pa 15 &r og derover, bosiddende i private husstande.

Koncepter

e Gallup Variables.

Gallup Variables.

o V8VIOV10V11V12V13V14V15V16 V17 V18 V19 V20 V21 V22 V23 V24 V25

¢ Special questions, Omnibus no. 03.

Special questions, Omnibus no. 03.

o V26 V27 V28 V29 V30 V31 V32 V33 V34 V35 V36
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